
D−67

D

H
Y-TE

G
R

A
 S

Y
S

TE
M

HY-TEGRA MANIFOLD （HMC、HMD）

HMDｰ*ｰ025ｰ03T*

HMCｰ*（E）ー06ｰ08T*

HMDｰ*ｰ03ｰ04T*

■Description of the model designation

HM*ｰ*（E）ー*ｰ***
Pipe position
  T1: Thread-connection back side piping
  T2: Thread-connection side face piping

Piping size
  03: 3/8  04: 1/2  08: 1

Nominal size
  025, 03, 06

(E)
E is indicated for the external-pilot type 
solenoid valve size 06.

No. of station
  1: 1 station  2: 2 stations    3: 3 stations
  4: 4 stations  5: 5 stations  

Manifold
  HMD: 025, 03
  HMC: 06

Model

HMCｰ1（E）ー06ｰ08T*

HMCｰ2（E）ー06ｰ08T*

HMCｰ3（E）ー06ｰ08T*

HMCｰ4（E）ー06ｰ08T*

HMCｰ5（E）ー06ｰ08T*

T1

T2

T1

T2

T1

T2

T1

T2

T1

T2

a

11

13

11

13

11

13

11

13

11

13

b

56

70

56

70

56

70

56

70

56

70

c

60

54

60

54

60

54

60

54

60

54

d

74

65

74

65

74

65

74

65

74

65

225

380

535

690

845

e

25.9

43.7

61.4

79.1

96.8

Mass (㎏)

Model

HMDｰ1ｰ025ｰ03T*

HMDｰ2ｰ025ｰ03T*

HMDｰ3ｰ025ｰ03T*

HMDｰ4ｰ025ｰ03T*

HMDｰ5ｰ025ｰ03T*

No. of
station

1

2

3

4

5

H

130

215

300

385

470

Mass
(㎏)

3.9

6.6

9.5

12.3

15.1

Model

HMDｰ1ｰ03ｰ04T*

HMDｰ2ｰ03ｰ04T*

HMDｰ3ｰ03ｰ04T*

HMDｰ4ｰ03ｰ04T*

HMDｰ5ｰ03ｰ04T*

No. of
station

1

2

3

4

5

H

150

250

350

450

550

Mass
(㎏)

6.7

11.5

16.4

21.3

26.2

A/B port for side 
piping are 
provided on the 
both sides of 
manifold.

A/B port for side 
piping are 
provided on the 
both sides of 
manifold.

■Outside dimensions

NOTE: The PLT connection
port is provided on
HMC-*E-06-08T* only.

90

42

39

51
15

24

36

21.5 19

85
×（

S
er

ia
l n

um
b

er
−

1）
61

H
55

17

767 7

R P9 9

φ18

60°

Back piping type

Side piping type

29

31 32
.5

17

9
9

Rc3/8

4－Rc1/2

Rc3/8

4－M5×0.8 depth 9

4- M16 prepared
holeφ8.5 through hole

Hole for M12 eyebolt

Solenoid
valve center

60°

110

56

48

61
15

29

22
18

10
0×（

Se
ria

l n
um

be
r−

1）
71

H
68

18

967 7

PR
10 10

φ18

Back piping type

Side piping type

29
22

9
9

Rc1/2

4－Rc3/4

Rc1/2

4−M8 depth 12.5

54

46

4- M16 prepared
holeφ8.5 through hole

Hole for M12 eyebolt

Solenoid
valve center

c d

65
39

1

92
.1

a

Back piping type

Side piping type

30
16

27
b

10
5

28
.5

28
.5

88
115

158

172

88
15

5×
（

S
er

ia
l n

um
b

er
−

1）
10

3
e

13817 17
67

36
2017

17

2- Rc3/8 (DR2 connection port)

2- Rc3/8 (PLT connection port)
(Same position on symmetry is
the DR1 connection port.)

3－Rc3/8

4－Rc1 1/4

M12×18
φ7×8

4－M16×20

Hole for M12 eyebolt
M16×35

130.2

Solenoid valve
center

Solenoid valve
center 2×Serial

number
Rc1

4×Serial number
Rc1

Unit: mmUnit: mm

Unit: mm

HGD2HｰB**ｰSDｰ03BｰA*（*）

HGD2HｰB**ｰSDｰ03BｰD*（*）

Mass: 8.6㎏

Mass: 8.4㎏

■Outside dimensions

184 52.5 Max.

110
54

50.8
37.3
27

16.7
3.2

10
.5

23
34 40

63.5
〔Solenoid installation/

removal dimension 107.5〕

MAX 300〔Solenoid installation/removal dimension 344〕

27

34

6846
11

32
.521

.4
6.

4

O-ring 5ーJIS B2401ー1BP124-φ8.5

110
84.5

39.5
69

53

Pressure gauge
outlet Rc1/8

Low pressure
adjustment side

High-pressure
adjustment side

184 52.5 Max.

110
54

50.8
37.3
27

16.7
3.2

10
.5

23
34 40

72.5
〔Solenoid installation/

removal dimension 125.5〕

MAX 309〔Solenoid installation/removal dimension 362〕

27

34

6846
11

32
.521

.4
6.

4

O-ring 5ーJIS B2401ー1BP124-φ8.5

110
84.5

39.5
69
（56）

Pressure gauge
outlet Rc1/8

Low pressure
adjustment side

High-pressure
adjustment side

Lock nut

Pressure adjustment screw
CW: Increases pressure.

Lock nut

Pressure adjustment screw
CW: Increases pressure.

Pin hole for manual
operation

Pin hole for manual
operation



D−68

D

H
Y-TE

G
R

A
 S

Y
S

TE
M

PLATE

MOUNTING BOLTS

Mount the stacked valves to the manifold or remove them from it while
hexagon socket head bolts are set through the stacked valves.
(For size 03 or 06, also use straight dowel pins.)

Mass: 0.4㎏ Mass: 1.1㎏

■Hexagon socket head bolt

2

3

4

5

Nominal
Size

No. of
Stacking
tier

Nominal
Size

No. of
Stacking
tier

025

HKSｰNAｰ5×65

HKSｰNAｰ5×100

HKSｰNAｰ5×135

HKSｰNAｰ5×170

HKSｰNAｰ8×95

HKSｰNAｰ8×150

HKSｰNAｰ8×205

HKSｰNAｰ8×260

HKSｰNAｰ12×145

HKSｰNAｰ12×230

HKSｰNAｰ12×315

HKSｰNAｰ12×400

03 06

■Stud bolt (with clamp nut)

2

3

4

5

025

HKSｰNCｰ5×71

HKSｰNCｰ5×106

HKSｰNCｰ5×141

HKSｰNCｰ5×176

HKSｰNCｰ8×106

HKSｰNCｰ8×161

HKSｰNCｰ8×216

HKSｰNCｰ8×271

HKSｰNCｰ12×157

HKSｰNCｰ12×242

HKSｰNCｰ12×327

HKSｰNCｰ12×412

03 06

■Straight dowel pin

2

3

4

5

03

 ——

HKSｰNPｰ5×90

HKSｰNPｰ5×145

HKSｰNPｰ5×200

HKSｰNBｰ12×167

HKSｰNBｰ12×252

HKSｰNBｰ12×337

HKSｰNBｰ12×422

06

●Examples

（1） When only hexagon socket head bolts are used

（2） When stud bolts and hexagon socket head bolts are used

Example installation order: ①→②→③→④

Example removal order: 1→2→3→4

①Screw stud bolts into the manifold.
(2 stud bolts arranged diagonally)

4Remove the bolts.

②Stack the valves.

3Remove the valves.

③Tighten the hexagon head socket bolts.

2Remove the hexagon socket head bolts.

④Tighten the clamp nuts.

1Remove the clamp nut.

◆ ◆ ◆ Cautions for Removal ◆ ◆ ◆
When loosening a clamp nut, the stud bolt may turn with the clamp nut to be removed.
If this happens, tighten the stud bolt again and then remove the hexagon socket head bolts.

HMSｰCAｰHD3ｰ025 HMSｰCAｰHD3ｰ03

■Outside dimensions

Nominal
Size

No. of
Stacking
tier

Hexagon head
socket bolt Clamp nut

Manifold

Stud bolt

Stacked valves Manifold

Hexagon socket head bolt

Solenoid valve

4－φ5.5 hole

M5

40.515.5

7412

8

31 32
.5

48 M8

4－φ8.5 hole

5423
10019

11

46 70

3.
2 

Z
G

3.
2 

Z
G

O-ring 4－JIS B2401－1AP9 O-ring 4－JIS B2401－1AP12

HMDｰ*ｰ025ｰ03TY2

No. of
station

L

(Total Length (mm))

1

（A）＋（C）

115

2

（A）＋（B）＋（C）

165

3

（A）＋2（B）＋（C）

215

4

（A）＋3（B）＋（C）

265

5

（A）＋4（B）＋（C）

315

6

（A）＋5（B）＋（C）

365

7

（A）＋6（B）＋（C）

415

8

（A）＋7（B）＋（C）

465

9

（A）＋8（B）＋（C）

515

10

（A）＋9（B）＋（C）

565

11

（A）＋10（B）＋（C）

615

■Outside dimensions

HMDｰ025ｰ03G1

SPACER (Mounting size change plate)

■Description of the model designation

HMDｰ1ｰ025ｰ03TY2
TY2: Thread connection, side face piping

Pipe size  03: Rc3/8

Nominal size of applicable valve

No. of station: 1 to 11

Manifold

Mass: 1.9㎏

HMBｰ04ｰ06G1

Mass: 8.8㎏

Unit: mm

HMBｰ03ｰ06G1

Mass: 9.2㎏

■Outside dimensions

L 68

25
60（A） 50（B） 55（C）

23
19

8 8
19

9 9

21

23
.5

90

20

24

2ーRc1/24－φ8.5
From back, M10 x 15

Hole for M12 eyebolt

φ
1860

°

76
±

0.
2

52
±

0.
2

32.5±0.1

48
±

0.
2

40
.5

±
0.

1

30
.2

±
0.

1

21
.5

±
0.

1

12
.7

±
0.

1

7
7

20.8±0.1

31±0.1

66
±

0.
2

36±0.2

4－φ9
φ13.5 counter bore depth 10

O-ring 5－JIS B2401－1BP12

75 55

70

6－φ13
φ19 counter bore depth 13

165 70

12
0

6－φ13
φ19 counter bore depth 13

165 70

12
0

O-ring 4－JIS B2401－1AP28

O-ring JIS B2401－1AP11

O-ring
2－JIS B2401－1AP15

O-ring 4－JIS B2401－1AP28

O-ring JIS B2401－1AP11

O-ring
2－JIS B2401－1AP15



D−69

D

H
Y-TE

G
R

A
 S

Y
S

TE
M

PLATE

MOUNTING BOLTS

Mount the stacked valves to the manifold or remove them from it while
hexagon socket head bolts are set through the stacked valves.
(For size 03 or 06, also use straight dowel pins.)

Mass: 0.4㎏ Mass: 1.1㎏

■Hexagon socket head bolt

2

3

4

5

Nominal
Size

No. of
Stacking
tier

Nominal
Size

No. of
Stacking
tier

025

HKSｰNAｰ5×65

HKSｰNAｰ5×100

HKSｰNAｰ5×135

HKSｰNAｰ5×170

HKSｰNAｰ8×95

HKSｰNAｰ8×150

HKSｰNAｰ8×205

HKSｰNAｰ8×260

HKSｰNAｰ12×145

HKSｰNAｰ12×230

HKSｰNAｰ12×315

HKSｰNAｰ12×400

03 06

■Stud bolt (with clamp nut)

2

3

4

5

025

HKSｰNCｰ5×71

HKSｰNCｰ5×106

HKSｰNCｰ5×141

HKSｰNCｰ5×176

HKSｰNCｰ8×106

HKSｰNCｰ8×161

HKSｰNCｰ8×216

HKSｰNCｰ8×271

HKSｰNCｰ12×157

HKSｰNCｰ12×242

HKSｰNCｰ12×327

HKSｰNCｰ12×412

03 06

■Straight dowel pin

2

3

4

5

03

 ——

HKSｰNPｰ5×90

HKSｰNPｰ5×145

HKSｰNPｰ5×200

HKSｰNBｰ12×167

HKSｰNBｰ12×252

HKSｰNBｰ12×337

HKSｰNBｰ12×422

06

●Examples

（1） When only hexagon socket head bolts are used

（2） When stud bolts and hexagon socket head bolts are used

Example installation order: ①→②→③→④

Example removal order: 1→2→3→4

①Screw stud bolts into the manifold.
(2 stud bolts arranged diagonally)

4Remove the bolts.

②Stack the valves.

3Remove the valves.

③Tighten the hexagon head socket bolts.

2Remove the hexagon socket head bolts.

④Tighten the clamp nuts.

1Remove the clamp nut.

◆ ◆ ◆ Cautions for Removal ◆ ◆ ◆
When loosening a clamp nut, the stud bolt may turn with the clamp nut to be removed.
If this happens, tighten the stud bolt again and then remove the hexagon socket head bolts.

HMSｰCAｰHD3ｰ025 HMSｰCAｰHD3ｰ03

■Outside dimensions

Nominal
Size

No. of
Stacking
tier

Hexagon head
socket bolt Clamp nut

Manifold

Stud bolt

Stacked valves Manifold

Hexagon socket head bolt

Solenoid valve

4－φ5.5 hole

M5

40.515.5

7412

8

31 32
.5

48 M8

4－φ8.5 hole

5423
10019

11

46 70

3.
2 

Z
G

3.
2 

Z
G

O-ring 4－JIS B2401－1AP9 O-ring 4－JIS B2401－1AP12

HMDｰ*ｰ025ｰ03TY2

No. of
station

L

(Total Length (mm))

1

（A）＋（C）

115

2

（A）＋（B）＋（C）

165

3

（A）＋2（B）＋（C）

215

4

（A）＋3（B）＋（C）

265

5

（A）＋4（B）＋（C）

315

6

（A）＋5（B）＋（C）

365

7

（A）＋6（B）＋（C）

415

8

（A）＋7（B）＋（C）

465

9

（A）＋8（B）＋（C）

515

10

（A）＋9（B）＋（C）

565

11

（A）＋10（B）＋（C）

615

■Outside dimensions

HMDｰ025ｰ03G1

SPACER (Mounting size change plate)

■Description of the model designation

HMDｰ1ｰ025ｰ03TY2
TY2: Thread connection, side face piping

Pipe size  03: Rc3/8

Nominal size of applicable valve

No. of station: 1 to 11

Manifold

Mass: 1.9㎏

HMBｰ04ｰ06G1

Mass: 8.8㎏

Unit: mm

HMBｰ03ｰ06G1

Mass: 9.2㎏

■Outside dimensions

L 68

25
60（A） 50（B） 55（C）

23
19

8 8
19

9 9

21

23
.5

90

20

24

2ーRc1/24－φ8.5
From back, M10 x 15

Hole for M12 eyebolt

φ
1860

°

76
±

0.
2

52
±

0.
2

32.5±0.1

48
±

0.
2

40
.5

±
0.

1

30
.2

±
0.

1

21
.5

±
0.

1

12
.7

±
0.

1

7
7

20.8±0.1

31±0.1

66
±

0.
2

36±0.2

4－φ9
φ13.5 counter bore depth 10

O-ring 5－JIS B2401－1BP12

75 55

70

6－φ13
φ19 counter bore depth 13

165 70

12
0

6－φ13
φ19 counter bore depth 13

165 70

12
0

O-ring 4－JIS B2401－1AP28

O-ring JIS B2401－1AP11

O-ring
2－JIS B2401－1AP15

O-ring 4－JIS B2401－1AP28

O-ring JIS B2401－1AP11

O-ring
2－JIS B2401－1AP15


